T

BB K B W E = & , | | ' e fﬁﬂl WY TH
| | SE 1 B - i i S =, o == |
l ( MEEmETmE S-4) snysss = 92 ns %
- . R3¥&E 2R
D \ \J/ C\ C\
i«
. o9 a
570 —o :
- M S5 S—5—6—&
b 29 48 T ED \ #t ,
- E:E-e
, o b= ) |
4852 1645 22T 243
] 377777‘% LT ,,)\L:If\ o 77 = "
Ty RIRARR S O I TN\
I AN S -2 = = #/\ 0 J _), —
—— it C T Sz e
M - LITTTT o L L8 mse ¥ -+ LI AR S I
M S=2== 2/ o s == it 6FC[&1 |4 == A O A, = Pﬂ
U AR R IR D R B B - -v
(3 n Sam= =2 == TN 755%\”) —b N § r 4 et
5 &% : ity I . caE e Lsto
3, i SRt BN zso | _jzme T ’
5w - & I®. |-
F856 558 €3] €25 (253 awﬁ
AM
2.9/° %
N /N ~ Pl | &2
//\\\ /N )ﬁﬁ? N &f/ -
'Y Yy \
,/\\ ’;} \ A W
/ < i N AN 0
\@Q " > 2
: < / Yy ©
N \\\ / @ \?% <5 A
v ~ \ \ \
Y S \ 2 | v
- / ~ W R \
~N
/ : ) \n \
/- > P S \ \ o s <=y, 5
~ ~ : \gﬁJ D ,)gl w& i‘\%

COREZR., THREEEEELCETISEEHE LTRELTLET, |
ONEZEFRBULIEDENDTHY . BEDRREFIELDIBENHYET,

OHE#IC& T, ERENSEESNDILOTEDHY FA.,




CONEEE. tHREEEELCETISEENE LTEBLTOET,

|
|
i
i
!
A
NN
l
[
[
|
|
{

~
ny
n

Soaptose)y 32| =1T336™ )

|, 2] s+ mr szs; 2364 "= 360671
. BE™TY 36, 39"“ =

j563 s =

43047 =X v

OREEIEMMABOLDTHY . BEORKRL FRLEZBENHYET.
[2) ZN TR OHE%I~&>T. HRENKESNBLOTEHY Ft A, ’
I3
S /N—ETE ) | . e . i
b7/ X-ARTR /45'7‘70 J£(1bg5K MBT000Y = 98T J5(j22nX 202X —pugnT 1o a3k LD pgs ML (vaRX HELED L g™
LS DSFOIBN o | b
VL @BED X0O3)=0T2D ‘ _ Ve (133x BTy = | sy ™ D%’%
: [13}2) =N
S s e jeos R S L - . =202
- ——== = = — — Zge5 ~ — — — T €4= 227 43 42 13.23 ' . i ’CJ)
. )
dec 22'=1.0000xB50 =550 . . , . Aec 26= 100D X250=2B0D =&
Tan 2= 0.0064X1000 = 006 przg roast raron o683 Todas T |52l = £6T tan 36" =001SX 1D:00=_ 1 ¢ =Al
S~ , 5447 ‘ 25\ f_ﬁ
~ x=5|54.2 2=
l,/&%"‘ﬁg’f;g 2™ Ains TIVEENEY 5SS
B : - T 14b2 ) 5554 147 Th
ANl ' : : YY)
r nm
38 - woseveesrmr=tpae /o §F
| 5™ le 10266 =2.0400482
NS} | 2OHF " 3268 = 15142820
ﬁ,‘ii | ' -éegsw 8924 =9,999976 2 Igg 0
ASME | _2Es30eh ld 9 1 M
y Lo 89 (005322039533 g TEEP3AOL i ¥ 50
N NS : a7l =1.5l46305 - =LT2LN4s I q
AN ol | vgg?cs‘,;,\ 82038’ =9999291 | » » 15 |
<> ol , 35542047 + | (g
=% =35%2. 657 16 0%
o= ! =121 35" N S
S I ne -
T ‘ I
NN g o8
glg 8;3,,\;,?51,, A 555 f 04Y= 0993 (49 o _ . _ 9035572"7('_’(2 /gi,{l
. f104 ZZ 132 =
5 s 3 TARELT e L .
| _ oo
gec2y= 001D XBED=E5D | : EE e i iy T
* 22 = 00064 X 2,00 = 0 1 LT L #GzesxpoT) = 11437 | A-9p 0
) ‘ y mnm
5 43
< .
PLGT n\\\ N .
\ L143™ 4 33615168 = 23.6™ Xon
| .
|

e (X 03025 =109 . pat;) = 1020927

Y= 13047
=10 TH) = Le (793 T’-T

m|94






